

















































































Example

Let Xs Xv ris of distribution with PDF f x b 28 3

Xs 7 0

i Prove that T Xass min Xi ist u is a sufficient
andcomplete statistic for 7

ii Find miv.ae of 5

sufftica 4 0853,1144cal
So If xi D 1,25 73 x a

27 153 III Xiao

Weneed 113 axico 1 I C axiad 1 iEE1
faxy Xu xcsj.co sI Xxpy2a I O4Xcucd

1dcxcyto
So f x 1 87 1 3 I taxes o I 0axon a

TCI d 4 x where g TC 3 2 7 I Xxa o

and UCI ftp.I 0cxcy o soT I Xas is sufficient
for

Distribution of T x F t P Tet Planet
1 P Xcs t 1 P X1 Xu t 1 IEP Xist
1 P X t 1 1 P X1 1 1 Excel

and we have Fx t fffxcxldx fjexx32x 28fx.lt
d 1 41 ts

So F.lt 1 E Act 9 1 to




















































































Completeness Let g T function of T Then
Efg t 0 Sigelfact dt o V6
Siga dub f

2 124 0 s

fighter 121 0 g s 5201 0 41

g 0 KSSO g t 0 Vts
So T is also complete

i We are looking for a 4 T such that 4413 6
We have 1441 5 594418 1121 5
884414 121 5 8 44 etude 519 It
a sense c red in.EE i I.i.u.eFinally the statistic Y T

of 5

Example
Let Xs Xu rs of Poisson J Find miv.ae of g s

we e eviously shown that T T I EX is sufficient
and complete for d
We are looking for a function 44 such that YET S
14 T 1 441 P T t and In Poisson vb

ee i ie E iiit isEEii is
Each Eat vs EI wt Einen lust

Since the equality is true Y we have

I



For t K 4 Ken 44 Er In
For tak 4441 0

So 4 T 0 t k
E Eai t k

For example for K 1 Y T Fi E T 3

Example
Let Xs Xv v s of 0,0
a Prove that T maxElXel Xul is sufficientand complete
for

b Find m.v.me for 20 and for

X FF f x i o E IL ax 0

f x f xi 11 IL 0 x 6051111 axis
It is III vice 1 I Xiao 1 ieEs v

I o Wil e 1 ie 1 v o max lxsl but
I 0 a max Ixil xuB 1

Hence F x 205 I 0 max 1 11 1 13 0
and T T X max Eltal Nul is sufficient for

F 4 P Tst P max Xi t

panel Plexed
1 FX Fx t Fx yes E

So Flt IF e

Let g t function then g T 0 fig e 84121 0
Sight at 0 Sight 121 0 V0 s



g o 0
1 0 0 g o 0 400 g41 0 tE 0,0

Finally T is complete

Alternativeen t.E.sixitiipc yacs
Fxly Fx y 4 so Ynt 0,0

b We have 14s t 20 58414774121 20
85414 de 20 8 44 trade It
41 G on 1 11 41 G It

So the miv.ae of 20 is 414 4 1 8 1
max Ixil

We have 14s t 8424744121
Stract Éde Stage 121 0

4 G nov 1 3 0ᵗʰ 42 G it 02
So the mv.ae of is Ye T 5 T II max X


